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Paragraph 7.4., amend to read:

"7.4. Test for projections and surface friction.  An appropriate size of
helmet shall be subjected to the test described in
paragraph 7.4.1. or to the test described in paragraph 7.4.2.”

Paragraph 7.4.2.2.9., amend the figure of “5 + 0.1 m/sec” to read 
“4 + 0.1 m/sec”.

Paragraph 7.8.3.2.1.1., correct the reference to "ISO/CIE 10256" to read 
"ISO/CIE 10526".

Paragraph 10.6.1.1., amend to read:

“10.6.1.1. The holder of an approval must divide the visors into ... ”

Paragraph 14.7., correct the references to "paragraphs 13.6.1. to 13.6.6."
to read "paragraphs 14.6.1. to 14.6.6.".

Annex 14, the table, amend the following values:

In the row for a value of Wavelength (nm) 490 the value for blue “7.8852"
shall read “7.8862",

In the row for a value of Wavelength (nm) 640 the value for blue “0.9685"
shall read “0.9695",

In the row for a value of Wavelength (nm) 660 the value for the last column
"0.4020" shall read “0.4629",

In the row for a value of Wavelength (nm) 670 the value for yellow “6.7692"
shall read “0.7892",

In the row for a value of Wavelength (nm) 720 the value for blue “1.2056"
shall read “0.2055",

In the row for a value of Wavelength (nm) 740 the value for blue “0.0518"
shall read “0.0516",

In the row for a value of Wavelength (nm) 760 the value for red “0.0046" shall
read “0.0045",

____________


